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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026

( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

o 2P Teq fra

(a) Define fertility rate.
THqe1 2179 Az o |

(b) What is microfinance?

Tuie I7E 2
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(c)

(d)

(e)

(9)

(h)
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Mention one impact of land-tenure
system.

-7 IREE 9Ol 2 T 9 |

Point out one common deficiency
involving in governance.

N EES (dl T @Bl YR % Sy
I |

What is rural-urban migration?

2T -9 2= e [ @ 2

Point out one social challenge arising
from globalisation in India.

SRee MR Foe Ted @ 9@ S
AT SCEd F41 |

In which year was the Rio Summit held?
e A= P 5T e tafeE 2

Define individual behaviour in social
environment,

AGT AR 1 w59 w35 Fay |

( Continued )

(3)

() Mention one contribution of agriculture
to the process of economic development.

HtAfes T afare $Ra «b sz Sy
01

() Write one cause of gender inequality in
a family.

o1 e ooge fos (Iaa) @61 e =7 |

2. Answer the following questions :

OO 2PPTYRY T i

(a) Define globalisation.
s wige foar |

(b) What is the relationship between the
age structure of a population and its
dependency ratio?
SRR T s o FSaierel sered
qMES AFT F4ECH1 1 2

(c) What are the types of environmental
externalities?
“MfRePiers ARFFER eReReaE 5 750
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(d) Why is sustainability of renewable
resources important?

SRISCICIN F<1ra TR R gyl 2

(e) What is landlord-tenant relationship?

$H-71fC AF ISR TofeTh] 5 2

Answer any four from the following
questions : Sx4=20

O eRPTRA A I BifReR Seq fin

(a) Explain the role of agriculture in
economic development.

tfor Saare $RR S a3 |

(b) Write a note on credit market in
agrarian society.

PRERN TS 49 TG e/ S Grer i |

(c) Explain the distinction between

community governance and corporate
governance.

WWWﬁWWWWWW
341 |

( Continued )

(S)

(d) Briefly discuss the major eras of
globalisation in the last 150 years.

@@ Seo IS AR 24 FR0! ST
ST A |

(e) Explain the factors which influence
individual behaviour in an organisation.
RIS G AR SIS 91 FRISTYZ, 361
91 |

() What is fertility gap’? Explain the
fertility gap in terms of Leibenstein
theory of population.

Tl ¥ 97 GREAETR SR ©E]

Tikace T4q91 F19 LIREACH! 61 41 |
4. Answer the following questions : 10x4=40
e 2PPTYRA O] il
(a) Discuss the functioning of labour
market in agrarian society. 10
IFEA TS WY IWRE IRFIRST A
911
Or / #gal
Explain the demographic transition
during the process of development. 10
T of R TR s [OTERR
R e 41 |
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(b)

(c)
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(6)

Examine Hirschman’s exit, voice,

loyality theory as a response to
organisational inefficiency.

Rfvera  2gm, w1 WF wEEe e
HARefofe S aifofern R «1qrw1 w1 |

Or / g

Discuss the impact of globalisation on
developing countries in terms of
international finance.

TEEiies [Req aacs S ore R
ST ST <41 |

What is governance? Discuss the main
instruments to ensure successful
governance of an organisation.

A FIE QI ? R 1 FFe 2L s
I SAIREACIE ST 3547 |

Or / T

Critically discuss the wvarious land
reform measures adopted in many
developing countries.

ﬁ}%ﬂ@ﬂﬁ%%ﬁ@@mﬁﬁﬁ‘gﬁﬂgm
FEZPTR PTAICEOT FZ10E AT 541 |

10

10

2+8=10

10

( Continued )

(@)
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(7)

In what way common property resource
theory provides a useful framework
for analysing environmental issues?

Explain. 10
ARG AeAfE M OGoRd  AREHTS
FPER Remd F9© 7 9o eieasan
FEICILT 2 R, 361 41 |
Or / gl
Write short notes on : 5+5=10
59 (Ol e
(i) Nutrition and labour productivity
o|f% S 2T SRATAT!
(i) Economic activity and climate
change
Feftfes IR S wer ARadT
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